




In the given questions, a word has been used in three 

ways. You need to check which of the sentences has/have 

correctly used the given word, and mark that as your 

answer.



OVERTAKE

I. She overtook the other runners and went on to win the race.

II. The firm was badly in need of restructuring when she overtook.

III. The women students seem to be overtaking the men in various 

fields including science and technology.

1. Only I

2. Both I and II

3. Only III

4. Both I and III

5. All I, II and III



In each of the questions given below four words are given in bold. These 

four words may or may not be in their correct position. The sentence is 

then followed by options with the correct combination of words that 

should replace each other in order to make the sentence grammatically 

and contextually correct. Find the correct combination of the words that 

replace each other. If the sentence is correct as it then select option (E) as 

your choice.



The (1) judgment of the ICJ in the Kulbhushan Jadhav

case has come as major (2) relief for India, providing 

space and (3) direction for Pakistan to reconsider the ill-

formed process it (4) pursued in sentencing him to death.

1. 1-2 and 3-4

2. 1-4

3. 1-2

4. 2-4

5. No correction required



The constitution does not (1) continuous on how the (2) 

seniority is to be fixed, (3) whether it is the longest-

serving general secretary in a (4) elaborate term, or age.

1. 1-2 and 3-4

2. 1-3

3. 1-4

4. 1-3 and 2-4

5. No correction required



The most managed (A) thing about Angrezi Medium is 

the array (B) of interesting actors it has notable (C) to get 

on board (D).

1. A-C, B-D

2. A-B, C-D

3. A-D

4. A-C

5. No replacement required



Pedestrians and cyclists are arguably (A) the most global 

(B) species on Indian roads — who are fighting 

vulnerable (C) warming with every step, every day — but 

unfortunately (D) in India, no one worries about them.

1. A-C, B-D

2. A-B, C-D

3. A-D

4. B-C

5. No replacement required



In the questions given below, each statement has 

been divided into four fragments, one of which may 

contain an error. You are to mark the fragment 

containing error as your answer. If no fragment has 

an error, mark E as your answer.



When a pandemic, a tsunami, an earthquake or a flood 

ravages mankind, (A) / it devours everyone — infants and 

the olds, men and women, the sick and the healthy, (B) / all 

races of all religions and people irrespective of (C) / their 

ideological and political denominations. (D) / No error (E)

1. A

2. B

3. C

4. D

5. E



An equated monthly installment (EMI) holiday (A) / can be a 

huge blessing for individuals (B) / and business when faced 

with a job loss, (C) / salary cut or loss of revenue. (D) / No 

error (E)

1. A

2. B

3. C

4. D

5. E



Service industries such as airlines, hotels and (A) / 

restaurants and tourism have begin to feel the pinch, (B) / 

and in course of time the pain will extend to (C) / the 

manufacturing sector as well. (D) / No error (E)

1. A

2. B

3. C

4. D

5. E



Prime Minister Narendra Modi, in his address (A) / to the 

nation on Thursday on the coronavirus pandemic, (B) / right 

focused on what people should do in (C) / what is fast 

turning into a crisis situation. (D) / No error (E)

1. A

2. B

3. C

4. D

5. E



The fear of Indian farmers is that (A)/ they will not have 

adequate pricing power (B)/ when pushed into a large supply 

systems (C)/ and less regulated markets. (D)/No error (E)

1. A

2. B

3. C

4. D

5. E



The following question has one blank and which 

indicates that something has been omitted. Choose 

the word for the blank that best fits in the context of 

the sentence.



As part of the latest program, the government calls for 

applications from hotels and guesthouses with ____ licenses 

to participate.

I. convincing

II. credibility

III. Valid

1. Only III

2. Only I and II

3. Only I

4. Only II and III

5. All of the above



Increased drinking during the pandemic has created a group 

of people who don’t see themselves as alcoholics but have 

difficulty ______ from alcohol for any length of time

I. abstaining

II. refraining

III. Desisting

1. Only III

2. Only I and II

3. Only I

4. Only II and III

5. All of the above



UL is a procedure to _______________ the process by 

which new or unlicensed products can be used during public 

health emergencies

I. simplified

II. streamline

III. rationalized

1. Only II and III

2. Only II

3. Only I and II

4. Only III

5. All of the above



THANK

YOU
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